
All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 

wheels. It contains 16/20 or 24 Screw or Nut, together with 4 aluminium center rings where required. 

- 

LAND ROVERLAND ROVERLAND ROVERLAND ROVER    
CAR TYPE TYPE SIZE ET H / PCD CENTER WHEEL CODE KIT CODE NOTE 

DISCOVERY 3DISCOVERY 3DISCOVERY 3DISCOVERY 3----4444    01010101////2004200420042004���� (Type LA) PCD 5 / 120 - Hub Ø72.5 – Nut M14 x 1.5  27mm HEX 

 381* 9.5 x 20 40 5 / 120 74.1 381 950 012 175 459 000  

* Center rings are Included 389* 9.5 x 20 40 5 / 120 74.1 389 950 002 175 459 000  

   The carton box 503 9.0 x 20 42 5 / 120 72.6 503 900 006 Original  

 365* 10.0 x 22 40 5 / 120 74.1 365 102 012 175 459 000  

 381* 10.0 x 22 40 5 / 120 74.1 381 102 022 175 459 000  

 389* 10.0 x 22 40 5 / 120 74.1 389 102 003 175 459 000  

 503 10.0 x 22 40 5 / 120 72.6 503 102 004 Original  

EVOQUEEVOQUEEVOQUEEVOQUE    06060606////2011201120112011���� (Type LV) PCD 5 / 108 - Hub Ø63.3– Nut M14 x 1.5  21mm HEX 

 369 8.0 x 18 45 5 / 108 C.R. 369 808 009 185 459 634  

 383 8.0 x 18 45 5 / 108 C.R. 383 808 010 175 459 634  

 501 8.0 x 18 45 5 / 108 C.R. 501 808 010 185 459 634  

 505 8.0 x 18 45 5 / 108 C.R. 505 808 010 185 459 634  

 369 8.5 x 19 38 5 / 108 C.R. 369 859 005 185 459 634  

 383 8.5 x 19 42 5 / 108 C.R. 383 859 006 175 459 634  

 501 8.5 x 19 42 5 / 108 C.R. 501 859 006 185 459 634  

 505 8.5 x 19 45 5 / 108 C.R. 505 859 006 185 459 634  

 369 8.5 x 20 40 5 / 108 C.R. 369 850 008 185 459 634  

 383 8.5 x 20 40 5 / 108 C.R. 383 850 007 175 459 634  

 503 9.0 x 20 43 5 / 108 C.R. 503 900 009 175 459 634  

 505 8.5 x 20 40 5 / 108 C.R. 505 850 009 185 459 634  

 383 9.0 x 21 40 5 / 108 63.4 383 901 003 175 459 000  

 503 9.0 x 22 45 5 / 108 63.4 503 902 008 Original  

FREELANDER 2FREELANDER 2FREELANDER 2FREELANDER 2    06060606////2006200620062006���� (Type LF) PCD 5 / 108 - Hub Ø63.3– Nut M14 x 1.5  21mm HEX 

 369 8.0 x 18 45 5 / 108 C.R. 369 808 009 185 459 634  

 383 8.0 x 18 45 5 / 108 C.R. 383 808 010 175 459 634  

 501 8.0 x 18 45 5 / 108 C.R. 501 808 010 185 459 634  

 505 8.0 x 18 45 5 / 108 C.R. 505 808 010 185 459 634  

 369 8.5 x 19 38 5 / 108 C.R. 369 859 005 185 459 634  

 383 8.5 x 19 42 5 / 108 C.R. 383 859 006 175 459 634  

 501 8.5 x 19 42 5 / 108 C.R. 501 859 006 185 459 634  

 505 8.5 x 19 45 5 / 108 C.R. 505 859 006 185 459 634  

 369 8.5 x 20 40 5 / 108 C.R. 369 850 008 185 459 634  

 383 8.5 x 20 40 5 / 108 C.R. 383 850 007 175 459 634  

 503 9.0 x 20 43 5 / 108 C.R. 503 900 009 175 459 634  

 505 8.5 x 20 40 5 / 108 C.R. 505 850 009 185 459 634  

 383 9.0 x 21 40 5 / 108 63.4 383 901 003 175 459 000  

RANGE ROVERRANGE ROVERRANGE ROVERRANGE ROVER    12121212////2001200120012001���� (Type LM) PCD 5 / 120 - Hub Ø72.5 – Nut M14 x 1.5  27mm HEX 

 381* 9.5 x 20 40 5 / 120 74.1 381 950 012 175 459 000  

* Center rings are Included 389* 9.5 x 20 40 5 / 120 74.1 389 950 002 175 459 000  

   The carton box 503 9.0 x 20 42 5 / 120 72.6 503 900 006 Original  

 365* 10.0 x 22 40 5 / 120 74.1 365 102 012 175 459 000 
Except Restyling 

2010 

 381* 10.0 x 22 40 5 / 120 74.1 381 102 022 175 459 000 
Except Restyling 

2010 

 389* 10.0 x 22 40 5 / 120 74.1 389 102 003 175 459 000 
Except Restyling 

2010 

 503 10.0 x 22 40 5 / 120 72.6 503 102 004 Original 
Except Restyling 

2010 

RANGE ROVERRANGE ROVERRANGE ROVERRANGE ROVER    SPORT SPORT SPORT SPORT 05050505////2005200520052005���� (Type LS) PCD 5 / 120 - Hub Ø72.5 – Nut M14 x 1.5  27mm HEX 

 381* 9.5 x 20 40 5 / 120 74.1 381 950 012 175 459 000  

* Center rings are Included 389* 9.5 x 20 40 5 / 120 74.1 389 950 002 175 459 000  

   The carton box 503 9.0 x 20 42 5 / 120 72.6 503 900 006 Original  

 365* 10.0 x 22 40 5 / 120 74.1 365 102 012 175 459 000  

 381* 10.0 x 22 40 5 / 120 74.1 381 102 022 175 459 000  

 389* 10.0 x 22 40 5 / 120 74.1 389 102 003 175 459 000  

 503 10.0 x 22 40 5 / 120 72.6 503 102 004 Original  

         

         

         

         


